Cam Units DLD
Schieber DLD
Unita a Camme DLD

OMCR

STANDARD DIE COMPONENTS




Max Work Force

Closed Work Area w'gh shoulder

Cam Height WxH 10° cycles (kN)
(mm) (mm)

Work Angle Slider Width

(LLY]

DLD052 0+20° (5° steps) 52 215:255 52x75 40

DLD090 0-15° (5° steps) 90 220+225 90x82 79

Dynamic technical staff and advanced design methods

GMCR

Extraction

Force
(kN)

0,53

1,05

Page
number

906
910

905

INDEX

a
-
a
[Z)
=
=
S
=
-3
oS




bLDOS2 GMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

Max Exlrac:ion)
Work Force | Force (kN
Work Angle M
OMCR CODE with shoulder
e

0°

DLD052.00.55 40

55 0,53

DLD052.05.55 5° 55 40 0,53
DLD052.10.55 10° 55 40 0,53
DLD052.15.55 15° 55 40 0,53
DLD052.20.55 20° 55 40 0,53

OPTION CODE

SL 5 + 65 (5mm steps)
sw 100 mm

OPTION CODE

ORDER Art. Work Angle =5° |  Stroke = 55 SL Sw
(B ||[ <[ otoes2 05 55 SL55 | swioo

Work Overall Dimensions
OMCR CODE | Angle (mm)

el s A de e o el F e il [y k[l
DLD052.00.55 0° 55

220 170 0 210 215 235 45 145 65 105 90 160 160 210
DLD052.05.55 5° 55 269,87 19566 35 260 255 310 15 280 110 110 140 175 175 225
DLD052.10.55 10° 55 279,75 19502 35 270 255 310 15 280 110 110 140 185 185 235
DLD052.15.55 15° = 55 289,51 19309 40 280 255 310 15 280 | 110 110 140 190 = 190 = 240
DLD052.20.55 20° 55 304,05 174,88 55 295 265 310 15 280 110 110 140 190 190 240

906

INDEX



https://www.omcr.it/download/Informazioni%20tecniche/DLD/Technical_info_DLD052.pdf?1560946961
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDLD%2FDLD052
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDLD%2FDLD052

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

OMCR

XVIEW

CAM DIAGRAM

4{&}7

@13 (2x)

20 h7

@10 H7 (2x)

Sp,.in Ss
tI'le y

Angle | Angle
(LLY]
EEEREN
55

0° 50°

5° 50° 55
10°  50° 55
15° = 50° 55
20°  50° 55

oL

| WEB |
:
~

Spring

Stroke
(mm)

65,55
59,58
55,00
51,43
48,65

55
55
55
55
55

A o
@13 (2x)
15 L @10 H7 (2x)
| — 54
35 10,05 M <002
N

907

INDEX

(=]
=
(=}
)
=
=
=
=
<
o



https://www.omcr.it/download/Informazioni%20tecniche/DLD/Technical_info_DLD052.pdf?1560946961

bLDOS2 OMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

908



GMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Positive Return
i Cam Driver
!
! Cam Slider
i /]
2 I
%: >
0.03+0.05 ‘ a
— -
J =)
| 2
I =
=
D ;
! ©
o
0.01:0.015 1
! AN Guide Bar
|
Cam Base
PART LIST
porcwarmnter | st | e | au |
1 Cam Slider GG-25 1
2 Cam Base GG-25 1
3 Cam Driver GG-25 + Graphite 1
4 Spring Guide Block GG-25 + Graphite 1
5 Guide Bar 42CrMo4 + Graphite 2
6 Positive Return CK45 1
7 Guide Bar Stopper Plate CK45 1
8 Spring Guide Pin CK45 1
9 Key CK45 2
10 Elastomer Cap Elastomer 92SH 1
1 Spring = 1
12 Cam Base Fixing Screws M12x45 DIN 912 - 2
13 Cam Driver Fixing Screws M12x45 DIN 912 - 2
909

INDEX



GMCR

DLDO090

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

Max Exlrac:ion)
Work Force | Force (kN
Work Angle M
OMCR CODE with shoulder
N

DLD090.00.55 0° 55 79 1,05
DLD090.05.55 5° 55 79 1,05
DLD090.10.55 10° 55 79 1,06
DLD090.15.55 15° 55 79 1,05

OPTION CODE

SW 120 or 150 mm
N @12H7

OPTION CODE

ORRER Art. Work Angle =5° | Stroke=55 | SW | N
ENIES I 05 55 |swizo| w2

Work Stroke Overall Dimensions
OMCRCODE | Angle | (mm) (mm)

e s Ll | o] o L e [P e | L e
0° 55

DLD090.00.55 236 182 0 210 220 233 60 210 160
DLD090.05.55 5° 55 251,42 166,24 0 225 220 240 60 225 175
DLD090.10.55 10° 55 261,72 164,14 0 235 220 243 60 235 185
DLD090.15.55 15° 55 275,82 160,97 15 250 225 248 65 235 185

910

INDEX


https://www.omcr.it/download/Informazioni%20tecniche/DLD/Technical_info_DLD090.pdf?1560946961
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FCATIA_V5%2FDLD%2F%2FDLD090
https://omcr.it/download.php?p=download%2FCad+3d%2FUnita+a+camme%2FSTEP%2FDLD%2F%2FDLD090

OMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

XVIEW F

OPTIgN g = 100—

@13 (4x) 32 h7
=

| . T
[ =5 T

L J\Z G=0,05 100:0,02 @13 H7 (2x)
OPTION N

100 0,05

(=]
=
(=}
)
=
=
=
=
<
o

CAM DIAGRAM
|_WEB_|

a

Press Stroke —l
>
8,5

W ’ L
15
sl’ri,7 Ss 6 M
QSt’oke/s /\ @13 (4x) 32h7 @13 H7 (2x)

OPTION N
|
iy Press | Spring '@ | 2 ‘ x
ﬂorlk ‘I\nn?r Work | Stroke | Stroke 8 - *&’*’*@ *’*’4” 3 8
gle | Angle | Stroke (mm) (mm)
e M S AN o
1

0° | 50° | 5500 | 6555 55 352005 L 002

5° 50° 55,00 59,58 55
120 £0,05
10°  50° 55,00 55,00 55

15° | 50° 55,00 51,43 55

911 INDEX


https://www.omcr.it/download/Informazioni%20tecniche/DLD/Technical_info_DLD090.pdf?1560946961

OMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

912



GMCR

DIE MOUNTED CAM UNIT - HORIZONTALSCHIEBER - UNITA A CAMME A BASE STAMPO

SLIDER STRUCTURE, POSITIVE RETURN STRUCTURE AND CLEARANCES

Cam Driver

/ Positive Return

Tﬁ:
C !O Cam Siider

\ Guide Bar

(=]
=
(=}
)
=
=
=
=
<
o

0.01+0.015

Cam Base

PART LIST

1 Cam Slider GG-25 1
2 Cam Base GG-25 1
3 Cam Driver GG-25 + Graphite 1
4 Spring Guide Block GG-25 + Graphite 1
5 Guide Bar 42CrMo4 + Graphite 1
6 Positive Return CK45 2
7 Guide Bar Stopper Plate CK45 1
8 Spring Guide Pin CK45 2
9 Key CK45 2
10 Elastomer Cap Elastomer 92SH 2
11 Spring = 2
12 Cam Base Fixing Screws M12x45 DIN 912 - 4
13 Cam Driver Fixing Screws M12x45 DIN 912 - 4
913

INDEX



R R R P

ﬂL




	CAM UNITS
	DLD - Die mounted cam unit
	TECHNICAL NOTES
	DLD052
	DLD090



